PRCBLTMS IN TELICHING M“SJOT L.

DR.AFTIN G,

As w2 nentionzd in the last lesson, thoeroe are soveral vays of
troadling which give scevoral symaetrical pattorns from the samnce threa-
ding draft. i hﬁVﬂ desceribed only once of them - corregponding to the
terrn fwroven--as-G a’h—lu” (or “tromp as writs). This first motlhod of
troadling is baced 2 ddaronsl {or dicgonals) cressing the woven
nicce. We shall o2 17 a treadliﬁg draft waich produces ~u01 a diznpgonal:s
Dasic Treadling Draft. It is bosic bocause all olkier treadling draflts
7111 be derived from it. ®ven if wo do not intond to weave the pattern
corresponding to the Dasic dralt, we must ficurs out tho itreadling, to

Lo able to find othor varintions of syuietrical pattoerns.
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For dinstance in the sccond variotion {(the first ig the Dagic)
called Roso-fashiion weaving in colonicl times, we remlac
by treadle b, tr.2 by tr.3, r.3 by tr.2, and tr.% by tr.1. UE DO IDOT
CiAlig? THE D12-UP, woilher on the draft or on fthe loon, but dnstead
of vesing for the first pick of woft treedle 10,2, we shall uce lod3
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for the sccond: instcead of 0,35 -~ No,a and 80 on. Cur vhele treadliing
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droft wl“‘ e as follows: 3-1x, 2~1x, ~1x, bL-1x, 3-3x, 2-3%z, 123x,
Loy, 1-bx, belx, 1-3x, 2-3x, 3-3x, %~1x, 1-1x, 2-1x, 3-1x; TFig.2
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snovsS thu drav-down cof the sccond variation of the pattorn.



X XX 3 bd X X jola) The pattern bhere althoush
bd XX X XX X 00 . . L3
4 ' : b s e 00 gyrmeirical ig completely
z T X X x o 0 S ) .
1321 different, and vhat 1s
. _* norce - it huas no diagonal.
1 rmmi mirn nm X . -
rraran monim oo bd T eccause of this lack of
i i Ll e . " o
TR tiA) x, a diagonal we cannot find
by the second variation of
“x the treadling right avay,
ix tut we have to start with
i the basic treadling,
% Yhen cormaring both
£ treadling drafts: the
% hazic, and the ‘'rose’,
z we shall notice that the
X
pi¢ second lools very rmch
x=* 1lilke the first only

X
X

and
the

T
MM (’L

O 00
2O Q0.
ol 00

o O

L NMMOOO
O

COGHMIN

MO OMMMILCOMNK

N
DLCHIOGOOMMOO0

Fi~.3

over, that
treadlics

u'l"ll‘:llll
1'111 1

nmru

<
=r

xr
P

PIFIRR A

<

"W

sy

the only thing
arc used.

mri
"mmm N

so to spceak ‘turned over',
or as its reflection in
a mirror. On tids rosnen-
blance betweaa the Ttvo
drafts is baged another
nethod of finding the
second variation of tie
trecdling.
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Iirst we draw a vertical line throuzh the
center of the basic draft (Fiz.3i). Then
we trahsfer the treadling nariis fromn oune
side of the line to the other (fig.3D).
Vle use either different colonr or dilierent
syubols for this second set ol marks.
Ffinally we erase the first treadliag, or
copy the new treadling marks on a nevy
draft (fig.3C).
Dvactly the same regull vould give
a reversed tie-un (12, 23, 3%, 41 instead
of 41, 34, 23, 12) with tineo first trecad-
ling. But it would not be a very practical
soluticn, when actual weaving is in cuection.
liany students confusc the changing
of trcadling marizs with chonging of the
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numbars of treadles. They try to count the
treadles frowm left to right i:cteai oz

from right to left, and are rathe zzled
that they otill "hb the garie © i ttern.
Cr they cunenge both the treoadls it

and  tie “e~1“, which again givos C
original btasic pattern. Or they iry to find
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the diagonal in the se ond variation.

Wle rust renind svch studentis over
which is changed - is the order in which
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